User Manual
Product Code:

A-NUC92-A1B / A-NUC92-M1B
A-NUC63-A1B / A-NUC63-M1B

GB

CAUTION

Electrostatic discharge (ESD) can damage system components. If an
ESD-controlled workstation is not available, wear an antistatic wrist strap or
touch an earthed surface before handling any PC components.

WARNING

Please be careful when unpacking and setting up this product as metal edges
can cause injury if not handled with care. Keep away from children.

FR

ATTENTION

Une décharge électrostatique (ESD) risque d’endommager les composants du
systéme. Si vous ne disposez pas d'une station de travail avec protection contre
I'ESD, portez un bracelet antistatique ou touchez une surface reliée a la terre
avant de manipuler les composants de I'ordinateur.

AVERTISSEMENT

Faites ion lors du déballage et de I'i llation de ce produit car il
comporte des coins métalliques coupants qui risquent de vous blesser s'ils ne
sont pas manipulés avec soin.

Garder loin des enfants.

DE

Vorsicht

Elektrostatische Entladungen (ESD — Electrostatic discharge) kénnen

S komp beschidit Sollte ein ESD geschiitzter Arbeitsplatz
nicht vorhanden sein, tragen Sie ein antistatisches Armband oder beriihren Sie
eine geerdete Oberflidche bevor Sie mit den Arbeiten am Computer beginnen.
Warnung

Seien Sie vorsichtig beim Auspacken und beim Aufbau dieses Produktes.
Scharfe Metallkanten kénnten Verletzungen hervorrufen wenn ohne die nétige
Vorsicht vorgegangen wird.

Von Kindern fernhalten.

ES
CUIDADO
Descargas electrostaticas (ESD) pueden dafar los componentes de su sistema.
Si no puede disponer de una estacién de trabajo libre de electrostatica, use una
mufequera antiestatica o toque una superficie que haga tierra antes de

pular los p del ordenador.
PELIGRO
Por favor sea cuando d este producto. Los
filos de metal pueden causarle cortes o heridas si no son manipulados
adecuadamente.
Aléjate de los nifios.

PT

CUIDADO

Descargas Eletroestaticas (ESD) podem danificar componentes do PC. Caso nao
tenha uma bancada especifica disponivel, utilize uma pulseira anti-estatica ou
toque uma superficie aterrada antes de qualq p

ATENGCAO

Por favor tenha cuidado ao desembrulhar e montar este produto, as
extremidades de metal podem machucar, caso o mesmo nao seja manuseado
com cuidado.

Manter fora do alcance das criangas.

RU

OCTOPOXHO

SnekTpocTatnyeckuin paspag (3CP) MoxeT noBpeAnTb KOMIMOHEHTbI CUCTEMbI.
Ecnu pabouee mecTo ¢ 3awmron ot ICP oTCyTCTBYET, peKoMeHAyeTcs npn
paboTe C KOMMbIOTEPHBIMI KOMMOHEHTaMI HafieBaTb aHTUCTATUYECKI
6pacnet nnm o6ecneynTb KOHTAKT Tena C 3a3eMIeHHOI MOBEPXHOCTbIO.
ONACHO

CobntofjaliTe OCTOPOKHOCTb MPY PACMAKOBKE 1 MOHTAXE 3TOro U3Aenna Tak
KaK OCTpble Kpas MET/IMYECKIX YacTer MOryT CTaTb MPUUMHON GU3NYECKoi
TpaBmbl. He noanyckaiTe K nsgenwio feten.

cz

POZOR

Elektrostaticky vyboj (ESD) mize poskodit soucasti systému. Pokud neni k
dispozici pracovni stanice s kontrolou pred ESD, pouzivejte antistaticky Feminek
na zapésti nebo se pfed manipulaci s jakymikoli sou¢astmi pocitace dotknéte
uzemnéného povrchu.

VAROVANI

PFi vybalovani a nastavovani tohoto vyrobku déavejte prozor, protoze kovové
okraje mohou pfi neopatrném zachazeni zpiisobit poranéni. Udrzujte mimo
dosah déti.

PL

PRZESTROGA

Wytadowanie elektrostatyczne (ESD) moze uszkodzi¢ podzespoty systemu. Jesli
stacja robocza pr do pracy z wytad iami elektrostatycznymi nie
jest dostepna, nalezy zatozy¢ antystatyczny pasek na nadgarstek lub dotknaé

uziemionej powierzchni przed pr do obstugi jakichkolwi
podzespotéw komputera.

OSTRZEZENIE

Nalezy zachowa¢ ostroznos¢ podczas rozpakowywania i ustawiania tego
produktu, poniewaz ! ' edzie moga sp di ¢ obrazenia, jesli nie
53 obstugi z zach i lezytej uwagi. Trzymac z dala od dzieci.

JP

ER

BHESKE (ESD) FEFIE - WRICIBEESZXZENHDET, K
WROMM FEEZTSRIIC, BIBBEIREFELZTo> LI, #
BRALES U BHBIBLEAR NSy 72EAL T, BT EEETT
STLEE W,

BE

SROA (TvY) BHATTAZITZBNNHDET DT, AWR%EFIRE
#. BYRTYTIIRICE. <N<hb+RTEELREEIV. FEHD
FORBDGEVAIIEEWLTTEL,

CN

EE

FHEIR R (ESD) AT RESHUR R ATt o 1H{EIRESD LRk o HRERARLL
KT (REE o EEF R iR Rt RE - BEBUEMEMAL -
BES

TR ZEPIENORA  BRESBDEEY o ERKE -

5140282702 V1

@

GB

@ Thermal compound @®) Thermal gap filler @ Screws for motherboard (M3) (® Washer

® EMI gasket @ Thermal gap filler (for M.2 SSD) ® Thermal module (for M.2 SSD)

(@ Serial cable @D Serial cable screws @ 2.5” HDD/SSD screws (M3) (@ 2.5" HDD/SSD mounting bracket
@ HDD protective film ( SATA adapter cable @ HDD mounting bracket screws @ VESA mounting screws
@ Case feet kit @8 Motherboard standoffs

FR

©) Composé thermique @3 Pate thermique @ vis pour carte mére (M3) ® Rondelle

® Joint de blindage EMI D Pate thermique (pour M.2 SSD) & module thermique (pour M.2 SSD)

(© cable série @0 Vis pour céble série @ Vis de disque dur / SSD 2,5” (M3)

@@ Support de fixation de disque dur / SSD 2,5" @) Film protecteur de disque dur @ Cable adaptateur SATA
@ Vis du support de fixation de disque dur @ Vis de fixation VESA @ kit de pied de boitier

entretoises de carte mére

DE

©) Warmeleitpaste @@ Thermaler Liickenfilller @ Schrauben fiir das Motherboard (M3) (® scheiben
® EMI-Dichtung @ Thermaler Lickenfiller (fir M.2 SSD) ® Thermo-Modul (fiir M.2 SSD)

©) Serielles Kabel @ Serielles Kabel Schrauben @ 2.5" HDD/SSD Schrauben (M3)

@ 2,5" HDD/SSD-Befestigungsbiigel (@ HDD-Schutzfilm SATA-Adapterkabel

(@ Schrauben fir den HDD-Befestigungsbiigel @® VESA-Montageschrauben (D GehiusefiiRe Zubehor
mainboard Abstandshalter

PT

@ Pasta térmica @@ Pelicula térmica @ parafusos para placa-mae (M3)

® Arruela ® Junta EMI @ Pelicula térmica (para M.2 SSD) & médulo térmico (para M.2 SSD)

© cabo Serial (0 Parafusos para cabo Serial @ Parafusos para HD e SSD (M3)

@ suporte de fixacdo para HD e SSD @) pelicula protetora para o HD (4 Cabo adaptador SATA

(@ parafusos de fixagdo do HD (8 parafusos para instalagao no suporte VESA (@ Kit de fixacao do gabinete
Espacadores para placa-mae

ES

©) Compuesto térmico @®) Relleno térmico @ tornillos para la placa base (M3) (® Arandela

® Junta EMI @ Relleno térmico (para M.2 SSD) & médulo térmico (para M.2 SSD) @ Cable serie
tornillos para Cable serie (D tornillos para HDD/SDD de 2,5” (M3)

@ Soporte de montaje para HDD/SDD de 2,5" @ Pelicula protectora para HDD @ Cable adaptador SATA
@ tornillos del soporte de HDD @ Tornillos de montaje VESA @ kit de pies de la carcasa

soportes para placa base

RU

D TepmokomnayHp @@ TepmosanonHuTens 3a3o0pos @BUHTbI 4NA MaTePUHCKOI nnaTbl (M3)

® Waitba ® dMU-npotektop @ TepmosanonHuTenb 3a30pos (ans M.2 SSD)

Tepmomo,qynb (ana M.2 SSD) (© MocneposaTenbHbiit kabenb @ BuHTLI nocnegosatenbHOro kabens
@ BuHTbI (M3) ana guckos 2,5" HDD/SSD (2 MoHTaXHbIN KPOHLUTeWH ans auckos 2,5" HDD/SSD

@ 3awmTHan nnexka ana HDD @ MepexofHoi Kabenb SATA

@ BuHTbI MOHTaxHbIil KpOHLWTeH Ana anckos HDD @ BuHTbI kpennenua VESA

(@ Habop Hoxek kopryca (® MaTtepuHckie nnatbl CTONMKM

cz

D Tepelna sloucenina @@ Teplotni vyplii @ Srouby pro zakladni desku (M3) ® Podlozka

® Tésnéni EMI- @ Teplotni vyplii (pro M.2 SSD) ® Tepelny modul (pro M.2 SSD) @ Kabel SATA

@0 Srouby pro Kabel SATA @ Srouby pro 2,5" HDD/SSD (M3) (@ Upeviiovaci drzak pro 2,5" HDD/SSD
@ Ochranny povlak HDD @ Kabel adaptéru SATA @ Srouby pro Upeviiovaci drzak pro HDD

(@® Upeviiovaci srouby VESA (D Sada podpér krabice @ Stojany pro zakladni desku

PL

@ Srodek termoprzewodzacy @®) Termiczne wypetnienie @ Sruby do mocowania do plyty gtownej (M3)
® Podktadka ® Uszczelka EMI (@ Termiczne wypetnienie (do M.2 SSD) Modut termiczny (do M.2 SSD)
@ Kabel szeregowy (D Sruby kabla szeregowego-4 @ Sruby do dysku HDD/SSD 2,5" (M3)

@@ Uchwyt montazowy dysku HDD/SSD 2,5" @ Folia ochronna HDD (4 Kabel adaptera SATA

@ Sruby wspornika montazowego dysku twardego @ Sruby do uchwytu VESA

@ Nézki obudowy @@ Podstawki pod plyte gtéwna

P
OHEEHEIAVNIVE Q@Y —<IVFrvIT745— @ IHP—KR—FARL (M3)
®Tv¥v— @EmY—IVFARTY b @Y —<IVF vy TT4Z— (M25SD A)
H—<IVEIY2—Ib(M2SSDA) @ U7 IVr—TIL @2 U7 IVr—TIVERY

@ 2.5” HDD/SSD F3% ¥ (M3) @ 2.5" HDD/SSD B 754 I @ HDD 1RFE T « IV Ls

@7 A T2—r—7)V ®HOD B TS FEXRY B VESABTERY @ 7 — X
IY—R—RARZY AT

CN
(OF=5 @B SHHETTRR @ £iR124 (M3) © £FH © BURHR S

SHETRCR (M2 SSDF) ® HviEitk (M.2 SSD ) @ B 4TiR &4 © SITHOLM gL
@ 2.5" HDD/SDD #2%4 (M3) ( 2.5" HDD/SDD %3248 @ B R4PE: 1 SATAIEFR e 45
O EEREREy © VESARER2Z O NAEMEE @ ERIEHE

i

Front Panel Layout

For A-NUC92

Power switch ---
Hard drive LED
Power LED

-- USB 2.0 ports
oo USB 3.0 ports

I
I
I
I
I
I
a

””””””””””””””” Headphone / Microphone

For A-NUC63
® ®
® - =
© i )
Power switch -- - i 3 % i 3
Hard drive LED ------ . ; \ R USB 2.0 ports

Power LED ~—~~----- ' e USB 3.0 ports

Rear Panel Layout

777777777777777777 Rear I/0 opening

****** Serial port opening
————————————————— Antenna fitting holes
S Kensington lock hole

Internal Layout

@ Aluminium heatsink for heat transfer
@ Front panel PCB

® M/B mounting standoffs

@® 2.5” HDD / SSD mounting holes

®

@o}o
Q\o)o

)

©
°]

S) o |

Suy| |uy

Internal Cable Connectors

pilg

USB 3.0 Type-A USB 2.0
male connector connector

Power & HDD LED
connectors

GB

Connect the case internal cable connectors to the corresponding motherboard headers.
NOTE : If the connectors are not apparent on the board consult your motherboard manual.
Connecting the panel to the wrong headers may result in motherboard damage.

FR

Branchez les connecteurs de cable internes du boitier aux embases de carte mére correspondantes.
REMARQUE : Si les connecteurs ne sont pas apparents sur la carte, consultez le manuel de votre
carte mére. Si vous connectez le panneau aux mauvaises embases cela risque d’endommager la carte
mére.

DE

SchlieBen Sie die Gehauseinternen Kabel-Anschliisse an die entsprechenden Motherboard-An-
schliiBe.

HINWEIS: Wenn die Anschliisse auf dem Motherboard nicht ersichtlich sind, schauen Sie bitte in
ihren Motherboard-Handbuch nach. Ein Anschluss des Panels an die falschen AnschliiBe kann dazu
fiihren, dass das Motherboard beschidigt wird.

PT

Conecte os cabos internos do gabinete, nas entradas correspondentes da placa-mae.

NOTA : No caso das entradas ndo estarem marcadas na placa-mae, consulte o manual da mesma.
Conectar os cabos numa entrada errada, pode danificar a placa-mae.

ES

Conecte los conectores de los cables del interior de la carcasa en los correspondientes cabezales de
la placa base.

NOTA: Si los conectores no aparecen en la placa, consulte el manual de la placa base La conexién del
panel en los cabezales equivocados podria dafiar la placa base.

RU

MogkniounTe pasbembl BHYTPEHHUX Kabeneil Kopryca K COOTBETCTBYIOLVIM pa3beMam MaTepPUHCKO
nnarbl.

MPUMEYAHMUE: Ecnu Bbl He BUAWTE 3TUX Pa3beMoB Ha nnaTe, 06paTnTech K PyKOBOACTBY
nonb3oBaTeNA CUCTEMHOI NnaTbl. MofgKloueHrie NaHenn K HeBepPHbIM pa3bemMaM MOXeT NPUBECTH K
MOBPEXEHI0 CUCTEMHOI NNaThl.

cz

PFipojte konektory vnitfniho kabelu sk¥iné k odpovidajicim konektorim zakladni desky.
POZNAMKA: Pokud nejsou konektory na desce patrné, prostuduijte si pfirucku k zakladni desce.
Pripojeni panelu k nespravnym konektoriim miize zpUsobit poskozeni zakladni desky.

PL

Podtaczy¢ ztacza kabla wewnetrznego obudowy do odpowiednich ztaczy plyty gtownej.

UWAGA: jesli ztacza nie sa widoczne na plycie, nalezy zapoznac sie z instrukcja obstugi plyty gtéwnej.
Podtaczenie tego panelu do niewtasciwych ztaczy moze spowodowac uszkodzenie plyty gtéwnej.

»P
SERICIRZIYY—R—ROY 27N ESRUT—ZAOE ARV T —T I 2 EH LU ET,
F RS NP —AR—RICERT 2 YT —R—RICEEESZI2BNDHDET., &7
SERIRRRZ YT —R—ROY =27 )% SHERL LS W,

CN

AR BT AR TR AR TS Ko s F b o

EE: MRAER DR EIEN MR FESEERZERRS -
IR TR BRI REIE L EARIRIE

2
For A-NUC92

For A-NUC63

For A-NUC63 & NUC 11 Pro boards only

Remove the pre-installed standoffs for Core™ i7 and
replace with the standoffs labelled for the Core™

For the following Intel® models:
NUC11TNKi3 / NUC11TNHi3 / NUC11TNBi3
NUC11TNKi5 / NUC11TNHi5 / NUC11TNBi5
NUC11TNKv5 / NUC11TNHv5 / NUC11TNBv5

Installation

11
A Custom SATA Cable Connection

For A-NUC92

Power & HDD LED connectors

USB 3.0 connector

For A-NUC63

VESA Mounting Instructions

WL

13

Serial connector

[oseoonms ]
1+

10

@

\

LN/

®
N

15

Case Feet Installation

2023/03



